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‘, mixer—hept. ‘ 100 | 15,5 | 100 \ 331 —5 1 —1 14 L5 ) 3 |00 58-5.3 1 59 \ 150
mixer—hept. I 200 15,5 209 10) 0 — 95 -2 =28 3,5 . 65 0.1 750+7,5 | 1 52 | 150
X mixer—hept. .25 24 250 100 — 9,5 —2 +-245 13 62 019 750-7,5 1.4 53 | 150
ECH 4 i eur 1| 63 045 A1 (%)—hept. I 100 30 100 50 . 0 P s 26 19 200020 0,7
ECH 4 G Phi 2 63 045 A1 (Z)—hept. 200 30 200 9% | o | —2 +-8 52 35 220022 07
ECH 21 eur 3 6.3 ! 033 A 1 (%)—hept. 250 45 250 9 | 0 | —1 +—-36 53 ] 35 ! ©2200+22 | 09 ‘ !
OCH 4 PhI 4 15 015 | ) scat.—hept. 250 10 maximum UCH 4/5/21 (Ufkx = 150 V)
UCH 4 eur 4 |20 | 01 |} scac—hepr. 300 | 100 | maximum ECH 421 (Uf,’f)l( =57 V) k=15 mA: Pa=1.5 W;Pga 1q4=1W
UCH § eur 5 20 0.1 osc.—triod. 100 (20) I 19 | 0,095 (459) | 50 !
UCH 21 eur 3 20 0.1 osc.—triod. 200 (20) ‘ L4 0.19 ’ (450) 50 |
osc.—triod. 250 (20) 45 019 | (550) Y 50 |
stat.—triod. 100 ’ 12 | | (G200 | (u=22) | |
stat.—triod. 175 0 maximum (P, = 0,8 W) '
mixer—hept. 100 10 100 63 | — 55 | —1,2-—14,5 1,7 | 3,7 ! 0115| 62062 08 | 47 | 150
mixer—hept. 170 10 170 102 | — 95 —22--24 32 | 68 |02 | 750=75 09 | 47 150
mixer—hept. 200 10 200 19 | —11 —2,6+-—28 3,7 | 81 0,23 77577 |1 (Fig. 1) , 47 150
mixer—hept. 250 22 250 103 | —95 —2 =285 325 67 |02 77577 |1 (Fig. 2)| 47 140
mixer—hept. 250 18 250 97 | — 95 —1,9=-285 3 85 |02 75075 1 47 140
ECH 81 eur 6 63|03 A 1 (%£)—hept. 100 18 100 6 0 —12+—165 34 | 22 (2000--20) 0,5 220
A 1 (%)—hept. 170 18 170 102 0 —2,2+--28 62 | 3,8 230023 8,6 220
A 1 (Z)—hept. 200 18 200 123 0 —2,6+-—33 7.6 | 43 2400--24 0,6 220
HCH 81 eur 6 12,6 | 0,15 A 1 (Z)—hept. 250 39 250 10) 0 —2 =—42 65 | 3.8 240024 0.7 200
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12 TE 8-GT Fiv 2 12,6 | 0,15 | | stat.—hept. 300 100 maximum (Ix = 16 mA)
osc.—triod. 100 3.4 0,2 50
l stat.—triod. 100 0 l 1 1 (3200) (u=22)
mixer—hept. 250 100 | —12,5 —2 =20 3 3.6 | 025 850--8,5 50
20D 4 Bri 7 63|03 A 1 (Z)—hept. 250 100 0 —2 +—20 7 2,3 2830100 0,9
stat.—triod. 100 0 15 } (3500) (u=16)




T Cgl Ca Cga Cgua Cg]/ga Cg]/f Cg3/f Cg/k Ca/k CgT/gl CgT+g3 CgT+g3/g1 CgT+g3/aH CaHIaT CaH/gT
pF pF J pF pF pF pF pF pF pF pF pF pF pF pF pF
ECH 4 hept. 56 | 92| 89| 0002 | 02 | 0,001
triod. 6 5,4 2,1 0.3 3 25 | 01 14 0,25 0,1
ECH 21 hept. 68 | 95 8 0002 | 03 | 0,007
UCH 21 triod. 45 | 35 1,1 0,06 32 | 2 0,1 12,8 0,35 01
ECH 81 hept. 48 | 791 6 0,006 | 03 | 017 0,06
UCH 81 triod. 26 | 21 1,0 0,02 017 0,45 0,35 02 | 0,09
UCH 4 hept. 56 | 97| 91| 0002 | 03 | 00015
triod. 59 | 52 2,1 0,3 28 | 24 | 01 13,8 0,25 0.1
6 TE 8-GT hept. 46 | 11,6118 0,002
12 TE 8-GT triod. 3,3 0,25 03
{ hept. 45 | 82 0,034
200D 4 Ltriod. | 21 | 087
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f250 200 -2 | 1| s 200 018 700 21 08 013 75 | 25
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